
ME326 - INTERMEDIATE FLUID MECHANICS


EXAM 3

NAME: __________________________________

STUDENT NUMBER: _____________________
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Problem 1 (50 points)
  Consider a converging-diverging nozzle with a throat area of 0.0015 
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 and exit area of 0.002 
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.   The stagnation pressure is 600 kPa and stagnation temperature is 10
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a)  When there is shock at section S having an area of 0.0018
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, find the pressure and Mach number after the shock and at the exit.

b) When there is no shock and the exit pressure is 580 kPa, find the velocity and Mach number at the throat. 
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Shock

Problem 2 (50 points)
  Air enters a constant area duct at a velocity of 520.78 m/s with a pressure of 50 kPa and a temperature of 300 K.  The diameter of the duct is D = 0.2 m and the friction coefficient is f = 0.02.  A Shock is present at a distance of 0.8 m from the inlet.  The exit pressure is atmospheric with 
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b) 
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